
1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 1/31/2018 Sheet    of
File: D:\Users\..\TTFSSServo1.SchDoc Drawn By:

GND

GNDGND

-5

GND

D1700077 2

TT FFS Servo: Common Path

D. Sigg
1 5

MIXR

CG

COMOS

 

100K

R18

100K

R19

TP7

TP5

TP4

TP8

TP13 TP14 TP15TP11

GND +15+5-15

1K
R15

NL
R22

TP12

-5

1
3
5 6

4
2

7
9 10

8

P1

09 18 510 6329

MIXR
PZT/25
PZT

+15

-15

+5
-5

GND

OS
CG

FG

EOM
EOM/25

EOMRMS
SLOW

FO

RMPEN
CEXCEN
AOEN

FEXCEN
BOOST1

EOMEN

GND

BOOST2 BOOST3
SPARE1 SPARE2
CEXCSW FEXCSW
SPARE3+

SPARE4

SPARE3-

2

3

7
4

6

5

U3

AD829

GND

+15

GND

-15

100n
C4

100n
C8

4.7u
C3

4.7u
C11 27p

C10

1K

R5

1K

R8

1K
R11

1K

R2

GND

DEM_N

DEM_P

J3
TNC

AO

2

3

7
4

6

5

U6

AD829

GND

+15

GND

-15

100n
C19

100n
C22

4.7u
C17

4.7u
C25 47p

C24

10K

R13

10K

R17

1K
R20

1K

R12

GND

10p
C23

10p

C16

3
1 down

up
S1

CEXCSW
GND

10K
R33

+5

A
O

EN

GND

2

3

7
4

6

5

U4

AD829

GND

+15

GND

-15

100n
C5

100n
C13 27p

C12

GND

BOOST1

TP1

TP3

TP6

2

3

7
4

6

5

U8

AD829

GND

+15

GND

-15

100n
C21

100n
C27

4.7u
C20

4.7u
C29 27p

C28

1K

R14

TP2

GND

1K

R9

10K

R16

4.7p
C9

4.7p

C1

4.7p

C2

4.7p

C18

2.2n

C6

1K

R7

1k

R3

100K

R6

2

3

7
4

6

5

U10

AD829

GND

+15

GND

-15

100n
C34

100n
C37

4.7u
C32

4.7u
C43 47p

C41

10K

R27

10K

R30

1K
R31

1K

R24

GND

10p
C40

10p

C30

EXC

GND

GND

R
M

PE
N

2

3

7
4

6

5

U11

AD829

GND

+15

GND

-15

100n
C35

100n
C42 27p

C38

1K

R25

TP9

4.7p

C31

TP10

1K

R21

1K

R28

GND

2

3

7
4

6

5

U9

AD829

GND

+15

GND

-15

100n
C33

100n
C39 68p

C36

100

R26

49.9

R29

J5
SMA

J4
SMA

GND

OUT2

2

3

7
4

6

5

U5

AD829

GND

+15

GND

-15

100n
C7

100n
C15 68p

C14

100

R4

49.9

R10
J2
SMA

GND

OUT1

100
R23

C1LO1

A1+2

A1-3

GAT1 4

OUT 14

A1CM 15C1HI16
U7A AD602JR

GND

J1
BNC

MON

GND

49.9

R1

Anti-Boost
750Hz/75kHz zero/pole

Common Excitation

Common Gain

Additive Offset Path Common Offset

1

23
Logic 0

4

U1A MAX333A

10

9 8Logic 0

7

U1B

MAX333A

V+16

G
N

D
6

V- 5

U1E
MAX333A

100n

C45

100n

C44

GND -15+15

10

9 8
Logic 0

7

U2B

MAX333A

11

12 13Logic 0

14

U2C

MAX333A

1u
C26

GND

PFDSW11

1213 Logic 0

14

U1C MAX333A

20

1918
Logic 0

17

U1D MAX333A

DEM_P

DEM_N

10K

R32
+5

W1
PFDSW

V+16

G
N

D
6

V- 5

U2E
MAX333A

100n

C47

100n

C46

GND -15

1

2 3
Logic 0

4

U2A MAX333A
20

19 18
Logic 0

17

U2D MAX333A

GND

1
3
5 6

4
2

7
9 10

8

11
13 14

12

15 16
17 18
19 20
21 22
23 24
25 26
27 28
29 30
31 32
33 34
35 36
37 38
39 40
41 42
43 44
45 46
47 48
49 50

P2

09 18 550 6323    Missing +15V
   see E1700364

+15



1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 1/31/2018 Sheet    of
File: D:\Users\..\TTFSSServo2.SchDoc Drawn By:

D1700077 2

TT FFS Servo: Common Path

D. Sigg
2 5

EO
M

EN

COM
EO

M
EN

V- 12V+13

GAT2 5

A2-6 A2+7

C2LO8 C2HI9

A2CM 10

OUT 11

U7B AD602JR

GNDGND

GND

+5 -5

GND

FG TP22

100

R64

100n
C80

100n
C81

1K
R62

GND

GND

2

3

7
4

6

5

U17

AD829

GND

+15

GND

-15

100n
C73

100n
C82 27p

C78

28K

R60 10p

C69

499

R65

GND

TP21
3.16K

R56

2.2n

C67

2

3

7
4

6

5

U18

AD829

GND

+15

GND

-15

100n
C74

100n
C83 68p

C79

3.16K

R61 390p

C70

499

R66

GND
TP23

NL

R57

NL

C68

499

R52 2

3

7
4

6

5

U14

AD829

GND

+15

GND

-15

100n
C57

100n
C63 27p

C60

14.3K

R44 27p

C52

GND

TP17
1.58K

R40

330n

C50
1n

C48

1K

R53
NL

R48

NL

C56
NL

C55

2

3

7
4

6

5

U15

AD829

GND

+15

GND

-15

100n
C58

100n
C64 27p

C61

100K

R45 27p

C53
TP18

1K

R41

330n

C51
1n

C49

GND

EO
M

EN

GND

3.16K

R58

3.16K

R47

NL

R54

COMF

2

3

7
4

6

5

U16

AD829

GND

+15

GND

-15

100n
C72

100n
C75

4.7u
C71

4.7u
C77 27p

C76

NL

R59 4.7p

C66
TP20

1K

R55

330n

C65
1n

C62

B
O

O
ST

2

1K

R63

GND

Boost
30Hz/300Hz pole/zero

Boost
5Hz/500Hz pole/zero

Boost
2.3kHz/23kHz pole/zero

Low Pass
130kHz poleFast gain

Boost
0Hz/480Hz pole/zero

GND

FO
1M

R38

NL

R39

TP16

Fast Offset

100K

R43

V+16

G
N

D
6

V- 5

U12E
MAX333A

100n

C85

100n

C84

GND -15+15
20

19 18Logic 0

17

U12D

MAX333A

11

1213
Logic 0

14

U12C

MAX333A

10

98 Logic 0

7

U12B

MAX333A

1

2 3Logic 0

4

U12A

MAX333A

NL

C88
T1 T2

1u
C54

TP25

GND

TP24

GND

11

1213
Logic 0

14

U13C MAX333A
10

98
Logic 0

7

U13B MAX333A

V+16

G
N

D
6

V- 5

U13E
MAX333A

100n

C87

100n

C86

GND -15+15

+5
10K

R34

W2

OPT1 +5
10K

R35

W3

OPT2

20

19 18
Logic 0

17

U13D

MAX333A

+5
10K

R36

W4

OPT3

OPT1

OPT2

OPT3

OPT4

1
2
3
4
5
6
7
8

16
15
14
13
12
11
10
9

SW1

SW DIP-8

SPARE1
SPARE2

Default DIP:
   On/Off/On/Off
   Off/Off/Off/On

NL

R46

100K

R50

1u
C59

GND

TP19

1M

R49

20K
R51

+5

-5

GND GND

GND

V- 12V+13

GAT2 5

A2-6 A2+7

C2LO8 C2HI9

A2CM 10

OUT 11

U19B AD602JR

GND

+5 -5

GND

100n
C89

100n
C90

GND

GNDGND

GND

GNDC1LO1

A1+2

A1-3

GAT1 4

OUT 14

A1CM 15C1HI16
U19A AD602JR

NL

R69

EG

COMEOM

0

R72

EOM gain

NL
R37

NL
R42

+5

-5

NL

R68FO

NL

R70

NL
R71

-5

NL

R67SLOW



1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 1/31/2018 Sheet    of
File: D:\Users\..\TTFSSServo3.SchDoc Drawn By:

D1700077 2

TT FFS: PZT Path

D. Sigg
3 5

J9

BNC

FAST MON

TP29

3
1 down

up
S2

FEXCSW
GND

10K
R87

+5

2

3

7
4

6

5

U24

AD829

GND

+15

GND

-15

100n
C104

100n
C109

4.7u
C102

4.7u
C112 47p

C111

10K

R82

10K

R84

1K
R85

1K

R80

GND

10p
C110

10p

C99

EXC

GND

J8
SMA

2

3

7
4

6

5

U20

AD829

GND

+15

GND

-15

100n
C91

100n
C95 68p

C93

100

R73

49.9

R75
J6
SMA

GND

OUT1

TP28

Fast Excitation

1K

R77

GND

+15

GND

-15

GND

2

3

7
4

6

5

U23

AD829

100n
C103

100n
C108 27p

C107

1K

R78 10p

C98

1K

R83

TP26

GND

+15

GND

2

3

7
4

6

5

U21

AD829

-15

100n
C92

100n
C96 68p

C94

100

R74

49.9

R76
J7
SMA

GND

OUT2

2

3

7
4

6

5

U25

AD829

GND

+15

GND

-15

100n
C106

100n
C113

4.7u
C105

4.7u
C115 27p

C114

NL

R81 10p

C101
TP27

3.16K

R79

330n

C100
1n

C97
B

O
O

ST
3

Boost
0Hz/150Hz pole/zero

GND

COMF

499

R96

33
R100

GND

2.7n
C135

470uH
L1

2

3

7
4

6

5

U26

AD829

GND

+15

GND

-15

100n
C116

100n
C124 68p

C120

100

R88
TP30

33
R101

470uH
L2

2

3

7
4

6

5

U27

AD829

GND

+15

GND

-15

100n
C117

100n
C125 68p

C121

100

R89

499

R97

NL

R93

TP31

33
R102

220uH
L3

2

3

7
4

6

5

U28

AD829

GND

+15

GND

-15

100n
C118

100n
C126 68p

C122

100

R90

499

R98

NL

R94

TP32

0
R103

470uH
L4

2

3

7
4

6

5

U29

AD829

GND

+15

GND

-15

100n
C119

100n
C127 68p

C123

100

R91

249

R99

NL

R95

V+16

G
N

D
6

V- 5

U22E
MAX333A

100n

C129

100n

C128

GND -15+15

20

1918
Logic 0

17

U22D

MAX333A

1

2 3Logic 0

4

U22A

MAX333A

Notch 130kHz Notch 210kHz Notch 280kHz Notch 73 kHz

9-180p
C130

390p
C134

GND

1n
C137

9-180p
C131

120p
C136

GND

1n
C139

9-180p
C132

390p
C138

GND

10n
C141

9-180p
C133

NL
C140

11

12 13Logic 0

14

U22C

MAX333A

10

9 8Logic 0

7

U22B

MAX333A

PZT/25

3
1 down

up
S3

GND

10K
R104

+5

PZT

GND

GND

1
2
3
4
5
6
7
8
9
10

11
12
13
14
15
16
17
18
19
20

JP1

Header 10X2A

-15

+15

+5

1
2
3
4
5
6
7
8
9
10

11
12
13
14
15
16
17
18
19
20

JP2

Header 10X2A

optional daughter board

M1 M3 standoff, 12mm

M3 M3 standoff, 12mm

M5 M3 standoff, 12mm

761-M1259-3005-SS
Mouser

M11 M3 standoff, 12mm

M2 M3 pan, 8mm

M4 M3 pan, 8mm

M6 M3 pan, 8mm

M8 M3 pan, 8mm

M10 M3 pan, 8mm

M12 M3 pan, 8mm

M13 M3 pan, 8mm

90317A115
McMaster-Carr

M18 M3 pan, 8mm

M7 M3 standoff, 12mm

M9 M3 standoff, 12mm

M14 M3 pan, 8mm

M15 M3 pan, 8mm

M16 M3 pan, 8mm

M17 M3 pan, 8mm

+5
10K

R86

R
M

PE
N

O
PT

4

W5
GND

1

23 Logic 0

4

U13A

MAX333A

NL

R92

1

2
4U30

100n
C142 GND

10K

R175
GND

   Missing resistor
   see E1700364



1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 1/31/2018 Sheet    of
File: D:\Users\..\TTFSSServo4.SchDoc Drawn By:

D1700077 2

TT FFS Servo: EOM Path

D. Sigg
4 5

GND
GND

GND GND

GND

+15

-15

GND GND

EOM

COMEOM

TP33 TP34

TP35

C147
4.5-65pF

1n

C143

100p

C144

3.16K

R105

2K

R107

100

R106

220uH

L6

NL
C148

0

R108

28K

R110

NL

C151

NL

R114

0

R117

1K

R113

1.58K

R109

47p

C152

48.7K

R111

1.58K

R115

499

R116

10K

R112

NL
R119

NL
R118

1%3.3n

C149

1%3.3n

C150

1%NL

C153

2

3

7
4

6

5

U31
AD8671AR

NL

D2

NL

D1

1%
NL
C170

1%
NL
C169

GND

GND

GND

EOMRMS

EOM

NL
R122

10K

R124

10K

R125

100

R121

100K
R123

100

R120

3
1 down

up
S4

J10

BNC

EOM Mon

GND

EOM/25

Boost
0Hz/1.6kHz zero/pole

1.7kHz pole

Boost
0Hz/1.2kHz zero/pole
1kHz/32kHz pole/zero

Boost
0Hz/3.2kHz pole/zero

RMS Detector

100n

C157

100n

C161

100n

C162

GND

C145
4.5-65pF

NL

L5

NL
C146

Parallel path
0Hz/50kHz zero/pole

340kHz/760kHz zero/pole
1.5-3MHz notch

2

3
1A

8
4

U40A

AD8672AR
5

6
7B

8
4

U40B
AD8672AR

GND+15

GND

-15

100n

C158

100n

C166
NL
C163

GND

-15

GND

+15

100n
C173

100n
C174

4.7u
C171

4.7u
C178

2

3

7
4

6

U41
AD8671AR

GND+15

GND-15

100n

C172

100n

C175

GND+15

2

3

7
4

6

5

U32
AD8671AR

GND

-15

100n

C159

100n

C167
NL
C164

GND+15

2

3

7
4

6

5

U33
AD829

GND

-15

100n

C160

100n

C168
NL
C165

D3

D4

1n
C176

1u
C177

NL

C154

NL

C155

NL

C156



1

1

2

2

3

3

4

4

5

5

6

6

D D

C C

B B

A A

Title

Number RevisionSize

B

Date: 1/31/2018 Sheet    of
File: D:\Users\..\TTFSSServo5.SchDoc Drawn By:

D1700077 2

TT FFS: DAQ Path

D. Sigg
5 5

1

2

3

4

5

6

7

8

9

11

10

J11

DB9

100n

C222

33

R174
GND

MIXR_P
MIXR_N

GND

PZT_P
PZT_N
EOM_P
EOM_N
SLOW_P
SLOW_N

+15

0

R134
NL

C181

NL

C205GND

100n

C189
GND

-15
100n

C197

NL
C202

0

R143

0

R142

NL

R126
GND

NL

R154

NL
R152

NL

R130

100

R144

GND

31.6K

R135

180p

C190

NL

C193

NL

C194

Z1 Z2

Z4

Z3

GND

TP36

NL

C183

NL

C184

Z5

Z6
Z7

5

6
7B

8
4

U34B
AD8672AR

2

3
1A

8
4 U34A

AD8672AR

+15

100

R132

3.16K

R140

3.16K

R148

100

R150

GND

GND

TP38 3.16K

R127

GND-15
100n

C199

100n

C187
3.16K

R136

2

3
1A

8
4

U36A
AD8672AR 5

6
7B

8
4

U36B
AD8672AR

MIXR_P

MIXR_N

+15

3.16K

R137
180p

C182

0

C206GND

100n

C191
GND

-15
100n

C198

0
C204

48.7K

R146

48.7K

R145

348

R128
GND

14.3K

R155

2K
R153

NL

R131

3.16K

R147

GND

31.6K

R138

180p

C192

1n

C195

1n

C196

Z1 Z2

Z4

Z3

GND

TP37

330n

C185

330n

C186

Z5

Z6
Z7

5

6
7B

8
4

U35B
AD8672AR

2

3
1A

8
4 U35A

AD8672AR

+15

100

R133

3.16K

R141

3.16K

R149

100

R151

GND

GND

TP39 3.16K

R129

GND-15
100n

C200

100n

C188
3.16K

R139

2

3
1A

8
4

U37A
AD8672AR 5

6
7B

8
4

U37B
AD8672AR

PZT_P

PZT_N

3.16K

R168

GND

3.16K

R158

100n

C210

TP42

5

6
7B

8
4

U38B
AD8672AR

2

3
1A

8
4 U38A

AD8672AR

+15

100

R160

3.16K

R165

3.16K

R170

100

R172

GND

GND

TP40 3.16K

R156

GND-15
100n

C218

100n

C213
3.16K

R162
SLOW_P

SLOW_N

3.16K

R159

2.2n

C212

5

6
7B

8
4

U39B
AD8672AR

2

3
1A

8
4 U39A

AD8672AR

+15

100

R161

3.16K

R167

3.16K

R171

100

R173

GND

GND

TP41 3.16K

R157

GND-15
100n

C220

100n

C214
3.16K

R163
EOM_P

EOM_N

MIXR

SLOW

PZT

2

3

7
4

6

U42
AD8671AR

GND+15

GND-15

100n

C215

100n

C217

NL

R169

GND

EOM 2

3

7
4

6

U43
AD8671AR

GND+15

GND-15

100n

C216

100n

C219

3.16K

R166EOMRMS

1n

C211

NL

R164

2 1

B1

Bracket

H1 #4 screw, 3/8"

H3 #4 lock washer

91113A005
McMaster-Carr

H4 #4 lock washer

H5 #4 nut

90480A005
McMaster-Carr

H6 #4 nut

90272A108
McMaster-Carr

H2 #4 screw, 3/8"

B1

B1

NL

C209

NL
C203

NL

C180

NL

C179

NL
C201

NL

C207

NL

C208

NL

C221
T3 T4

NL

C223

NL

C224

T5 T6

T7 T8


